\Y ¥4 \ \\ )

i ﬁﬁa/\zﬁ U% %Rill.’.l:l @55
= s %=[% &% &[6]7]8]9][10]1 131415 8119[20]21]22
Bl gl e |6 a% B a% a% B | B | B u% u% H% B H% H% i

HrmzeE 3 24 24 241 39 14] 19 29 49
raRzes 30[&rEE 24| 24 39 39 39
EHY . 51
Gl Silia 25 35
53R Bl 25 20 35
[FRIAVE SISl . 25
AR 12/31~1/38lk AU
OFf 1/1~1/2:8fTHi%E AR R C = 51
I JxAa7-IVdEEmE/NR (&L BET WAV E AT TAV Y
-H-fH L SEEOOR e
S8H13H-14H - 15 HIELHRIA VP TEITUL
= %%%.%%67891011121314
I ale  mles |6 |66 |6 6 By By By
Hrmas [0 | 24 L 24] 24, 39 14
M mzes 30[ErEEn 24, 24 39
EHY . 51
5N Bis 25 35
53 Bl 25 20 35
[FRIAVE ORI ERR . 25

2025F41HIE




710

\ X 5 4 & B/

BRALCH
16[17]18

: D 5
1

i 5,6$=?%ﬁ 718191(10/11[12]13]14|15 19(20(21(22
15 BF | BSF | BSF | BRF | BRF | BRF | BRF | BRF | PR | PSR | BSF | BSF | BSF | BSF | BSF | BRF | ¥
EIVIRERET 30| iinae 50 0] 0] 55 10[ 15[ 45] 55 200 0
55
HIVERE e 1
= | VIRERE Saee 4 14 17
INRFHHET S 5
19
39
Fﬁ?&ﬁﬁﬁﬁ'%’ijtn 05 ;g}ﬁ;g.':ﬁgd\*gg%ﬁﬁ 19 55 42
FE?QFEE‘T’%R#I:D 05 ;E%.i’?ﬂ-y{_)b 10 1 38 15
40
ﬂilj‘ﬂﬁﬁﬁﬁ-%ﬁtn 06 Elgﬁﬁﬁ_,b 24| 38| 32 9| 51 28 11| 54
SIMEZERT (L) 05 ;:ial %iii.?%wf—w 26
= vikEgm (L) |06[FE . 33
= T 101 25| 25
BELIEPS 10378/ B 51 56
ARl 12/31~1/3:&K
O 1/1~1/2FITHRE
TN E958R/\R |
-H-fH A A T
S8H13H-14H - 15 HIELHRIA VP TEITUL
= %% & &l 7/8|/9(10(11]12|13]14
T i
1B B B | BF | BRF | BSF | BSF | BRF | BRF | BSF | BRF | B | S % |
EIVIRERET  [30[ihnae .50 L OL 0] 55 L 10] 15|, 45] 55 20 0
55
HIVERE S T 1
1 VEBREN L L 4 14 17
LERT 03[EEEE | 9] 29
FE?QF ﬁﬁﬁ'%R:ltl:l 05 B Jﬁﬁ;.'éd\*gg%ﬁﬁ 39 4
&R - BRAE O |05 [, 19| 54 29 44
mhareReRi - BRAE 1 [ 06 ;fgﬁ'ﬁyf_,b .24 L34 | oLa9] L2aLs9] | 39
HIVEZERT (1E) 105 ;El %i?%ryf—)b 17
= vikE g (k) [06[F TR ., 13
=t Sy O L | , 25, 25
kN 10378/ TR , 51 , 46

2025F41HIE




